
 
Итоговая контрольная работа по алгебре 8 класс 

демоверсия 

1. При  р=0,2 значение дроби   
3р+9

4
   равно: 

1)2,4      2)3,75        3)0,375        4)0,25 

2. Сократить дробь   
1−2в +в 2

в2−1
: 

1)-2в       2)
1−в

в+1
      3)

в+1

в−1
    4)

в−1

в+1
    

3. Какое из чисел принадлежит промежутку [7; 8] 

1)√7         2) √8         3) √42         4) √61   ?    

4. Упростите выражение: (4√3   -√27  ) √3      

5. Решить уравнения:      2х2 – 7х – 9 =0 

5х2+8х-4=0 

6. Упростите выражение     
𝑎−𝑏

𝑏
∗ (

𝑏

𝑏−𝑎
+

𝑏

𝑎
) 
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